CS 225
Reading Assignment for Section 11.1:  Lower Bound Arguments

Due Monday 3/25/13, 10 AM
· Read p.379-385

· Answer the following.

1. What does it mean to say that Ω(n log n) is a lower bound for comparison-based sorting?

2. Name an algorithm which achieves comparison-based sorting with time-efficiency class 
Ɵ(n log n).

3. Because Ω(n log n) is a lower bound for comparison-based sorting, and we have found algorithms which actually achieve this efficiency, Ω(n log n) is called a a ____________ lower bound for comparison-based sorting.  (Insert the missing adjective.)
4. Give a tight lower bound for searching in a sorted array:  ________________________  Name an algorithm which actually achieves this efficiency:  _____________________________ .
5. Name two problems for which a tight lower-bound class is currently unknown.

6. If we obtain a lower-bound efficiency class for a given problem by simply counting the number of items in the problem's input that must be processed and the number of items to be returned as output, this is called a ____________ lower bound.  (Insert the missing adjective.)  Because we cannot usually achieve such efficiency, this is not a very useful method for obtaining a lower bound.  Section 11.1 names three other, more-sophisticated methods for finding lower bounds.  They are:  

